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Because their measurements are not equal — a7y wa M K>w DN

OVERVIEW

The mwn stated that all the different items mentioned in the 7I1wn cannot be
combined with each other to make up a mvw (so that one would be 21 if he
carried this mixture), since the 2>M¥°w of the various items are different. mMooIN
qualifies this ruling.
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However those items whose 21V are the same, such as 2" and ) 2w Y

21> @93, whose YW is N33, they do combine -
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And similarly if we combine an item which has a stricter (smaller) measure with

an item which has a more lenient (larger) measure, for instance if one combines

Jan with ;73 so in total there is a MY W of ®%3 95 K92, he is liable for carrying it -
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And even though the J2n may not suitable for the %23, nevertheless he is 21, for
perhaps when mixed together with the 713p the jan is suitable for the 7.

SUMMARY
Equal 2w are 7 v¥n. Smaller 2y w are 77vx¥n to larger My°w, provided they
are somewhat suitable for the intent of the larger My*w.

THINKING IT OVER

! Others suggest that this maon is referencing the mwn (directly).
2 The My w of 771y is 1770 *0 X911 (as stated in our 7awn) which is equal to a N (as stated previously in the Xn>2).
3 If one carried out a mixture consisting of a third of a N33 of 1"¥ and a third of 2w ¥ and a third of (2°n%) 0°7%2 7w
which together equals to a n72173, he will be 2, since they all have the same My°w. See “Thinking it over’ # 2.
4 The X3 actually says this shortly. See ‘Thinking it over’ # 1.
> A smaller My is a X0 (he is 270 for carrying even a smaller amount), while a larger 1w is a X9 (he is not
217 unless he carries a larger amount).
6yan is 271 even for a 779 *d X9 which is less than a 923 > X1 (the amount required for 7xv). Therefore the 12N is
more 1 then the 7.
" Therefore if one carried a mixture which contained (for instance) sixty percent of ¥y and forty percent j2n, and
together it equaled 923 > X913, so even though there is not enough 1%y for 913 *5 X%», and not enough j2n for * X971
779, nevertheless he is 271, for the 7 (the 12n) combines with the 7P (the 7%Y) to complete the MY w of 3 %0 Ron.
§ mooIn is troubled how can we combine the 120 with the 77xy; if a 93 does not eat Jan, he is not carrying something
which is normally carried; no one carries 320 to a 93 (and there is not enough jan for 719 0 X%71), so why should he
be 2»n. See ‘Thinking it over’ # 2.
9 Therefore there is a proper Myw; people may take out such a mixture for their 723.
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1. The X7na states clearly that they are 172w 9p% q7v3»; !0 what is Moo teaching us?

2. It is apparent from NN that if the 7M1 (the 120) would not be X7 at all for the
on3, even when it is mixed with the %p (the 17%V), it would not be 7 v¥n, and he
would not be 2°11.!! What is the ruling when 1w 2119w, do we also require that
it should be "% (for the other),!? or in such a case it does not matter, since ;7w
TMw?3

10 See footnote # 4.

!1'See footnote # 8.
12 This may have a bearing on the previous *7°X 71"7 '01n that the 71wn wrote 720 * X913 (not N1373) in order to teach

us why they made this M. If the MW is simply N335 because that is the usual MW as it is by ¥ 0w "oy
o°%%2, so they are certainly 7vx», for there is nothing for which they have to be »&1. However if the 2w is 0 X1
v, then if we maintain that even by 11w o ww they need to be "X, so we will need to say that the 231 ow "o
o°?¥1 are (somewhat) "X for a 770 (at least when mixed with 7%Y); otherwise they cannot be A7vxn. This may
perhaps be the np12n between the miwn (which states 790 ' R912) and the Xn>>72 (which states naaI2). "7 3200,

13 See y>11717 "R M.
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